"awnnn 'vTn NITIo™ NX1IN? yUwn 1o1aa i -7y ndIav n'inin
-TA72 ANAIN )IXT7 D'ININA YNNWAT N1
MNON YIN'Y 75 0N NIYYY? IX D'ININN NX D097 [N X7

NIN'OSN NIXN UXNIN YR 1727 X797

DMV NATND
D''N AN [IYVNVY



7T 210N DXV 7V nvn

297 Yy nnpnn onn

(capacity) n'7n'opn n7ia'p - 7T No).1

(currentAmount) 772 0'n NINd> .2

D"77T |'2 NINQN7 OW N901 NN .3

(name) N71DNN [I'9X7 IX



UNnvn punn - 710

Bucket(capacity , name) N0N19N KN (17W N9IN) 17127 7 7T M n71von
name 10N19nN XIN INWI capacity

Empty() A2TN DX NpInn N71Yon
Fill(x) NN NX7ANI1,0M NIND AX' NN X 10NID N3N n721von
AT NINd2 7T

IN'R7ANN TN 7N N7127 12Yn XN DN DD OX
.NXINN D'D9W] D'AN

Pourinto(b) NMYONN N'M'odnn 0NN NN DX NNAYNn N71V90n
b 7717 'nonn 71NN




72 JIN'Y

NITIEON T 7V 27 210N D'NXY 2 Ny
Bucket b1 = new Bucket(7, “cola");
Bucket b2 = new Bucket(4, “water");
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b1.Fill(5); .
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b2.Fill(3); .
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b2.Pourinto(b1); .
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